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Sociology
Paper III

HHATSTIMTSE
P9ateRT 111

Time Allowed : 2% Hours]
Note : This paper contains Seventy Five (75) multiple choice questions, each

[Maximum Marks : 150

carrying Two (2) marks. Attempt All questions.

U SRd. @E U Wi

GOl : A YA THY Ueew (75) Igaar YA fol oTRd. Uoieh TR | (2)

Who implements the National Rural
Employment Programme ?

(A) District Rural Development
Agencies

(B) Block Development Officer
(C) Ministry of Rural Development
(D) Chief Executive Officer

When was the Bonded Labour
(Abolition) Act passed in India ?

(A) 1948
(B) 1976
(C) 1970
(D) 1952

Who led the ‘Bharatiya Kisan Union’
to launch the peasant struggle in
India ?

(A) Narayan Swami Naidu
(B) Mahendra Singh Tikkait
(C) Sharad Joshi

(D) M.D. Nanjuda Swamy

L T AR FRIHIET 3T
ISEON HIT Fd 2

(A) oo oM fashmE Fee

(B) e fasm sAfeertdt

(C) 7™ faehre e

(D) &4 SRE&R THER

Sefor X e g 9RAId shegl T
HAe ?

(A) 1948

(B) 1976

(C) 1970

(D) 1952

RATT ekl T & h0ad  RAA
forem™ a9 g hIvil bl ?
(A) THUEEH AREE

(B) we=sfam feaeha

(C) Ig et

(D) TH.El. FS[eSrarH
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Who is the author of the book
entitled ‘Deviant Behaviour : A

Social Learning Approach’ ?
(A) Ahuja Ram

(B) Carey James

(C) Merton Robert

(D) Akers Ronald

Who of the following has given the
psychological, physiological, social
and miscellaneous causes of drug

addiction ?

(A) Ram Ahuja
(B) C.B. Mamoria
(C) G.R. Madan
(D) S.N. Agarwal

Which disease is the most frequent

killer of both men and women ?
(A) Cancer

(B) Diabetes

(C) AIDS

(D) Heartfail
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o fa

efeguz ferfegar : T divra @+ st

¢

I QIR ACh hl0 ?
(A) ST IH

(B) U S

(C) w&A e

(D) 3fhd {FTee

ETATAdeh! hIVH HIGh Tod HoATel

AR, YRS, 9t i

TSN

TR et SR fool a2

(A) TH SRS

(B) .t Heifen
(C) SH.3MR. HeA
(D) THUA. STRATA

Sl S0 G20 SEMRT =Zeh Ao I
IOl ?

(A) T (Fh )
(B) SrdEfed (AYHR)
(C) T&H

(D) &F A




Which is known as ‘Umbrella

Programme’ in promoting National

Health ?

(A) National Urban Health Mission

(B) National Rural Health Mission

(C) Family Welfare

(D) Janani Suraksha Yojana

Who has investigated how people

cope with disease and chronic illness

in their daily lives ?

(A) Labelling ideologists

(B) Conflict thinkers

(C) Functionalist

(D) Symbolic interactionist
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UL AR SIS * ot wrdsa’

U IV wE%HA aRfad TR ?

(A) T T g ifEm

(B) Ut ArHior R A

(C) Hd HeAm

(D) ST FRE A

s e ST SifeTd =T STy

':L{Q:IC"’*H g@”qiﬂl HAHAlD ool enxdld

Rl FeeA HIo hal 3 2

(A) e foame

(B) Hersfermat for=med

(OBEIREIN

(D) Hichfder ATafshATeR]
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10.

Who was of the opinion that an

excessive number of people

would give rise to poverty and
other social ills, since it was not
possible to increase land and
property as rapidly as the size of the

population ?
(A) Aristotle
(B) Plato

(C) Malthus
(D) Kautilya

Which committee was appointed for
proposing a National Population

Policy in 1993 ?

(A) Swaminathan Committee

(B) National Planning Committee
(C) Santhanam Committee

(D) Mudaliar Committee

10.
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o o

' Srfafied

ATREE B <Med ST 3o

TSR forsmaes Tt i sid SR

RSS9 dTed SITuT=a] 3TehT-

Y= THONG ST eTfor Sowiean

LR o1 Sh{0l IR TG 378 HAueyH

HOT Hel MG ?
(A) SRered
(B) I

(C) Wree™

(D) hifeea

1993 Al U AFEEAT NI

TEATfod SRS ShivTd] AT THIId
K I o

(A) @fanee it
(B) U drsn Gt
(C) S aft

(D) Heferar |ftd




11.

12.

The average number of persons
living per square kilometer is known

L5 T .

(A) Migratory population

(B) Density of population

(C) Dependency of population

(D) Declining population

Which of the following factors is

related to the size of the population

and the utilization of the countries

resources ?

(A) Younger Population

(B) Overpopulation

(C) Increasing Population

(D) Stagnant Population

11.

12.
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T ARE TRarHel |1l wienr=an TRIvaT=

FOES &A1 R0 e STl

S| ?

A) e e

(B) SIhE&A=T S

(C) AhTEId i

(D) ARIEIdA T

Eoiedehl IOl o2k B AAlhaed

SRR AIOT <M= TRl YA

FreARl Heifed e ?

(A) TEUTET TAThEEAl

[N o

(B) 3Ade

QIETSIE2]

(C) Il AhEE

(D) feer e
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13. Given below are two statements, one

is labelled as Assertion (A) and other

is as Reason (R) :

Assertion (A) : Every inmate of a
prison has to
carry on tightly
scheduled
activities in the
company of

strangers.

Reason (R) : A prison is a

unisex world

where every
inmate is
stigmatized.

Select the correct answer from the

codes given below :
Codes :
(A) Both (A) and (R) are true and

(R) 1is not the correct

explanation of (A)
(B) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(C) (A) is false but (R) is true
(D) (A) is true but (R) is false
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13. @l <9 faum feeft emed, T

fagm (A) 3T g9=a™ &R (R) 19
Hege e
faam (A) : TNIE Yo defardt

o N [a o

eIl 3TTes@ll =1

Tea™rd STt fasfya
e A foerell wm
TR el arTard.
HROT (R) : O § 39 Thiar foed
A & 9 gE@H

TEHATET &1 Hafwa
3Tl

SN

Erell fededn Gehdish YT 3Teeh St
IREEINE

- -
-
-

(A) (A) T (R) Sl TSR TTed AT

(R) T (A) ¥ 3T TIRIHII e

-~

(B) (A) a (R) &l aeR 31ed T (R)
T (A) T TH SRR IR

(C) (A) ¥ I o, g (R) § SN
3T

(D) (A) T AW AR, W (R) T IH
3




14. The main focus of introducing the

15.

population education is on ......... .

(A) Women

(B) Younger generation

(C) Working population

(D) Population of 60+

‘What a brave boy you are’ and ‘Boys

do not play with dolls.” These

examples are related with which

kind of gender studies ?

(A) Gender sensitization

(B) Gender socialization

(C) Gender equality

(D) Gender relations
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T

14. <rhged o YHEaH SivmeR higd

15.

HLOIT A ?

(A) Torn

(B) d&u fust

(C) foramia cerae

(D) 60 THEIA ATHEEAT

‘q Rt TR gam emew’ smf ‘HA

G Tleda AHdrd. | & IS femame

AT HIMIN Fafed Ted 2

(A) e HeeTsiierd

(B) femama gHTSTiehior

(C) famyme T

(D) famyme Fey

[P.T.O.



16. Which of the following is not a cause

17.

of rural poverty in India ?

(A) Low percentage of population
engaged in non-agricultural

pursuits

(B) Absence of dynamic community

leadership
(C) Urge for education
and

(D) Intercaste conflicts

rivalries

The Indian civilization encouraged
which of the following factors
comparing to the civilization in

Europe ?

(A) Spirit of Nationalism
(B) Spirit of Capitalism

(C) Diversity of Culture

(D) Spirit of Parochialism
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16. SIeileldeh! Shivld TRl TTH0T STEa

17.

HROT B Ihd e 2

(A) faz oidt sgaqmEE Tad e

ARgEdd HHT AT

(B) Tfaeiiel |Efaes Aqerst 3ufid

(C) ToeomaEi=i s1m=

(D) SRS Fors S T

JUqALTA FWIa=a1 dod  9RATdie

AT WTATeTdeh! ShIUTca] S[EehTall STST

feat 2

(A) TARNE Id9

(B) Wieaga@er™ <

(C) Tiharar fafasar

(D) YRR <d
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18.

19.

The Greeks were concerned about
the size of the population more from
the points of view of defence, security

and government than from that

of :

(A) Social resources

(B) Natural resources

(C) Political resources

(D) Economic resources

It must be pointed out that the
doctrine of Confucius on marriage,
family and procreation were

generally :

(A) in favour of population increase

(B) in favour of population control

(C)

not in favour of population

control

(D)

in favour of small family

18.

19.
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W, gIEaar s weAeeE A

ehIATA Weh § ClIehEEa=A1 SRR

qTodId STl ShIvedl TS rael Afeeh

e B ?
(A) TSR QIO

(B) S9fifer TnemE<

(C) TSTh T HIEEY

(D) e regaRt

foeme, wea onfor yeicaeT =1 Heie=

FRREHY T HYEE B ¢ T

HO H SETR S ?

(A) ARIE e THATYd

(B) orehgE frasumen wwefaned

(C) orREE fasumen fadiem

(D) &M FHearea gHefATd

11
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20.

21.

‘In the thousand slums of India’s
industrial centres manhood is
unquestionably brutalized, women
dishonoured and childhood is
poisoned at its very source.” Who

made this statement ?

(A) A.R. Desai

(B) Radhkamal Mukher;ji

(C) Pandit Nehru

(D) N.R. Seth

When was the ‘Medical Termination
of Pregnancy Act’ passed in

India ?

(A) Year 1976
(B) Year 1971
(C) Year 1972

(D) Year 1975

20.

21.
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‘gRardte sfienfre Sgraa g

SIS UeeaNd AISI@T e TRISeR
Ml oTR, T /o el Sa 81
0] STeATee & e adae o

Hell S R, § faum Hivi @
AqE ?

(A) TR IWE
(B) T¥HRAA @IS
(C) dfed T&®

(D) TA.3TN. 93

WA * S2reh g Tard e’ shegl S

LI 3Tl 7

(A) T8 1976

(B) a8 1971

(C) ad 1972

(D) a8 1975
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22. Given below are two statements, one

is labelled Assertion (A) and other

is Reason (R) :

Assertion (A) : The classification
of agrarian
classes are not
randomly given
into number of

social categories.

Reason (R) : The classification
of agrarian
classes into their
social categories
are determined
by specific
theoretical

assumption.

Select the correct answer from the
codes given below :

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is the

explanation of (A)

not correct

(C)
D)

(A) is true but (R) is false
(A) is false but (R) is true
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22. Wit oF faum foelt omed, e faum

(A) 3T TEATE HROT (R) T Faeat
e :

faam™ (A) : FuF T

= affeReor ©
F&qTeas grafas
FuUiat=ar A fss

e foorel el

o I AT HHTT
FAATNTER AFAA
it ® fafere srem
dgifas  [EiawIgar

T (R)

fuifta 8@ e
arell fooiedn Sehdish YA 3Teeh St
IREEINE
i

(A) (A) 9 (R) &l seR 3ATed o
(R) T (A) 3 T TRH TR

~

(B) (A) @ (R) Tl R 7ed W (R)

T (A) T TH TISHRIU AR

(C) (A) & TR 3R g (R) § I
e

D) (A) T g% 3R Wg (R) T SR
3T
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23.

24.

Since when the population of India

has become ‘Explosive’ ?
(A) Since 1941
(B) Since 1931
(C) Since 1951
(D) Since 1921

‘The right of women to decide freely
and responsibly on the number and
spacing of their children and to have
access to the information and means

to enable them to exercise that

right.” Who declared this ?
(A) The Government of India
(B) The National Population Policy

(C) The World Conference of the

Women’s Year 1975

(D) The World Population

Conference at Bukharest

23.

24.
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N * N ‘ Y 1}
WRATE! SR d el nelHI]1  Yhlcen

AT ?
(A) 1941 9
(B) 1931 9™

(C) 1951 WA

(D) 1921 A

‘ST WA ToRdl ol STt ST

e wed fordl STaX oTHTe TSR
SeTeRRIul ST el o SorE
oM g9 TR, 999 1 TR STHA

rutuTETSTEl  Atfedr 9 giew'

THesfovarame! < 21feerR 3T, " 3/ hont
SRR el ?

(A) HNd THR
(B) U drnded R

(C) 1975 =t Sfdes Afgan ufitug

(D) @R S TAhEe Iieg

14



25.

26.

If the population decreased, Plato’s

remedy was :

(A) Migration

(B) Emmigration

(C) Immigration

(D) Procreation

Who is the author of a book entitled

‘People, Health and Diseases : The

Indian Scenario’ ?

(A) Veena Bhasin

(B) Ashish Bose

(C) Venkatratnam

(D) Giri Raj Gupta

25.

26.
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~

SR AREEAT HH HA] T IR &

AN RO SUTERAISHT Fifael ?

(A) TJATR

(B) SEIATR

(C) STEIATTR

(D) 3cared

‘diuet, gy ofe fedls @ fg sfeem

faafistt’ a1 gt d'w &I

ea ?

(A) & wEH

(B) oTf¥er &9

(C) dheTTq

(D) ARSI

15
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27.

28.

Which committee recommended

the extension of the Health

Insurance Scheme to other sections

of society ?

(A) Kartar Singh Committee

(B) Bhore Committee

(C) Shrivastava Committee

(D) Mudaliar Committee

Who have edited the book on
‘Studies in Social Dynamics of

Health Care’ ?

(A) Ashish Bose and P.B. Desai

(B) Giri Raj Gupta

(C) S.C. Basu

(D) Lal Shivshankar and Chandani

Ambika

27.

28.
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AR o A= fodr aeT=a 3
TR a3 FTRE S

Tfad et ?
(A) harrg affd
(B) 4R 9ffat

(C) sffareqa afft

(D) Haferar |ftd

‘LIS T AN SRHTH 3T 3ol

%R’ T GEIH HIUN GUMCd Hhal 2

(A) oTferer = emfor Wi, <

(B) TS e

(C) TH.El. g

(D) o ferewmEeRt enfor ==gmon sifaw
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29. In which city the ‘Slums’ are known | 29. R IRUCA ‘SOSTRIA’ T’ AT
as ‘Bastis’ ? A 3TesElel S ?
(A) Chennai (A) ==
(B) Mumbai (B) H&E
(C) Kanpur (C) =Y
(D) Delhi (D) feeedt
30. Every year on June 26, ever since 30. 1991 o6 5 71 S
1991 has been in observance to mark
FHROMES! | shell Sal ?
theday of .................. . .
(A) International Population Day (A) ST TpEE
(B) International Day Against (B) WAeHyIeTe g‘gq’qﬁ'r[ arfor e1fafeq
Drug Abuse and Illicit . . L.
MR Yfaey AqsEa oo™
Trafficking
(C) ST Afgen fgaw
(C) International Women’s Day
(D) World Health Day (D) e s o
17 [P.T.O.



31. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
(b)
(c)
d)

(1)
(2)
3)
(4)
)

List I
(Books)
India’s Villages
Indian Village
Indian Villages in Transition
Caste and Class in India
List II
(Authors)
S.C. Dube
G.S. Ghurye
M.N. Srinivas
AR. Desai

Andre Beteille

Codes :

A
(B) (4)
©) @)

D) 3)

(@ (b)
%)
3)
3)

(1)

(c)
3)
)
4)
4)

(d)
(4)
2)
1)
2)
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31. Tl At I 9 At 11 |eie A=

St e S feeiedn Hehdishd A
E S EC I

(@)
(b)
(c)
d)

(1)
(2)
3)
(4)
)

EICU|

(TEeh)
sfears fogaisrg
HEREESE]

Mo

g

I fogeeg 39 oIfemm

FE e FAH T sfea
e 11
(1)

.. shifram

T.3R. TEE

s o

- -
.
.

A (D
(B) (4)
©) 2
D) 3)

(@) (b)
5)
3)
3)

(1)

()
3)
)
(4)
4)

()
(4)
(2)
(1)
(2)

18



MAY - 14316/II11—D

32. Which of the following is not a part | 32. @IClcyeh! I e @ HYSAH T
of peasant struggle classified by A TR0 Hheled Tahd GeEstE
Kathleen Gough ? CHIN BId Gl ?

(A) Liberal Reformist Movement (A) IRATERT GUROMCHS Fesdd
(B) Restorative Rebellions (B) Wde @

(C) Mass insurrections (C) @ 33E

(D) Social Manditory (D) |rIfSiR gt

33. How many villages are situated | 33 2011 =1 SFUMIAR 9 fohdt B
in India according to the 2011 .
census ?

(A) 6,20,880
(A) 6,20,880

(B) 6,40,887
(B) 6,40,887

(C) 5,76,000
(C) 5,76,000
(D) 5,71,000 (D) 5,71,000

19 [P.T.O.



34. By which name the bonded

35.

labourers are known as in

Hyderabad ?

(A) Jeethams

(B) Halis

(C) Adiyas

(D) Bhagela

Who wrote the article on ‘G.S.
Ghurye on Culture and Nation
Building’ in Sociological Bulletin

in 1993 ?

(A) A.R. Momin

(B) C.N. Venugopal

(C) Y.B. Damte

(D) A.R. Desai

MAY - 14316/II11—D

34. BTN B BSERHASA HIvred AT

35.

BT S ?

(A) Sty

(B) gTairst

(C) sfears

(D) Yrren

1993 HeY HfsitaifSerel gaifeTaed Si.
. g4 37 wer e T faeei’

=1 fororeiten o@ it fafgen 2

(A) T.3AR. HHHA

(B) A IvpiI

(C) 9. THd

(D) T.3R. e
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36. The concept of ‘Indexicality’ is

37.

associated with :

(A) Phenomenology

(B) Ethnomethodology

(C) Psychoanalysis

(D) Neo-functionalism

The term ‘Cynical performance’ is

used by :

(A) Foucault

(B) Derrida

(C) Goffman

(D) Garfinkel

36.

37.
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S SIeHw Al €1 Wheudr HINYN

Tefq e ?

(A) THTARMTEH

(B) ARTaIIGdIRITE

(C) AY-fagero

(D) TI-YhTIdRE

HIOTHEON et € R IO ST

qe ?

(A) TRl

(B) SR

(C) TMHHA

(D) TRftReha
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38.

39.

‘Social reality consists of objective,

socially created interpretations and

patterns of interpretations.” Who

formulated this view ?

(A) Gramsci

(B) Tonnis

(C) Berger and Luckmann

(D) Lash and Urry

Who is associated with the book

‘Reading Capital’ ?

(A) Jeffery Alexander

(B) Habermass

(C) Althusser

(D) Foucault

38.

39.

MAY - 14316/II11—D

‘3feee ArTfSTeRgteen THiHa star=ned anfin
ST i ATeR FrHIfSeh Sreferan
ainenfid e19d.’ @ gfteswmia wivft
Areelt ?

(A) Tt

(B) 2|

(C) sSiR STfoT eheA

(D) ofer et s

‘e wfyea’ ® gwas il geifed

Aqe ?

(A) Wi STa=IET

(B) ToRA™

(C) STegs

(D) HH!
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40.

Who wrote the following

‘Theoretical Logic in Sociology’ ?

(A) J. Alexander

(B) T. Parsons

(C) M. Weber

(D) J. Derrida

40.

MAY - 14316/II11—D

feifeena |ffSeh 391 QifvTetiarst’ ard
WEE HIT kA IR ?

(A) S. TR
(B) <. 9E=g
(C) TH. IR

(D) 3. efter

41. Which of the following sets of | 41. Heiicieh! oMl Heheurl He 3fe!
concepts is used by Anthony e Ml aTXen &g ? (3 W
Giddens ? (Choose the correct one) ferem)

(A) Structure system and looking (A) GTE SHew S ey fafsiscten
glass self o

(B) Risk society and ecological (B) SirE® arst 371for qifeerdiemesren
communication EEEL

(C) Life world and stock knowledge (C) Shadfaga sl IM WiEeR

(D) Structuration and self as a (D) STEATCHe 0T T —Teh Hicfere
reflexive project EEdS|
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42.

43.

Phenomenological sociologists have

a great concern for :

(A) Empiricism

(B) Positivism

(C) Consciousness

(D) Behaviourism

Who has recognized ‘Agency’ as a
principal constituent of human
existence and rejects the kinds of
body obsession and body fetishism
characteristic of contemporary

life ?

(A) Anthony Giddens

(B) Foucault

(C) Derrida

(D) Ulrich Beck

42.

43.

MAY - 14316/II11—D

TEEATRIRSE FHTSTIRSRT hen foarsei

3ifysh Thadhes 3R ?
(A) STHETEAER
(B) erfeadreg

(C) STfaTeHehd

(D) daE

Al ST Teh J&d weeh ‘Heed’

3O FHRTE Sferrt afdTesl A

ATl StteATert Som=ar g9l S

AYAgER IJAT ST A=Al feat ?

(A) et fire4

(B) H!

(C) et

(D) IARE &F
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44. Who argued that human subject is | 44. TFeE«H=1 fawa g1 w@ed sufon I=
constituted through power and FTER TR ATl 3T 3T hivit gfaare
knowledge ? %ol 38 ?

(A) Giddens A) Fred
(B) Derrida (B) =Ren
(C) Foucault (C) Tl
(D) J. Alexender (D) S. iRt

45. Who has indicated diversities of | 45. YRdTa Hehefr=il fofarerm woft freei=
Indian Culture and contributed a HUTAT SA® AT e tHdS | A
book on “Diversities” ? qEshE AreH fad sme ?

(A) R.K. Mukherjee (A) R& HEsf
(B) D.P. Mukherjee (B) St.d. HErsi
(C) G.S. Ghurye (C) Stugm. =
(D) S.C. Dube (D) TE.Hl. gd
46. Who has written the book ‘Tribal | 46 ERE IR sfear’ (1977) ®
Heritage of India’ (1977) ? e wof fafed ?
(A) S.C. Dube (A) TaH. T
(B) B.R. Ambedkar (B) sit.3M. aAisreshi
(C) Surajit Sinha (C) gifsma fam=
(D) N.K. Bose (D) WA, 99
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47. Caste and gender are :

48.

(A)

(B)

(C)

(D)

Interlocking hierarchies

Separate concepts with no

relation to each other

Caste is more opressive system

than gender inequality

Caste is socially and
traditionally  constructed
inequality while gender is socio-

cultural creation

The author of ‘Social Background of

Indian Nationalism’ is :

(A)

(B)

(C)

(D)

N.K. Bose

S.C. Dube

A.R. Desai

David Hardiman

47.

48.

MAY - 14316/II11—D

S effor feam v =us ?

(A) TEIE T[aeiet S

(B) TTERRI HIEIRI WY THATA
ETGE]

(C) fefmure STeHMaUen S & e

JeTHT e AR

(D) STa & ARG sl ST TXORATd

TmTor Shetelt STHHMGT 38 o) famsa

B AR - AR iasmgsedt fAfHa

TeheTdl T8

‘TRt RIS S ATh sfea TyHfas™’

I G @ HIU SR 7
(A) T, 99
(B) Tq.€l. qd
(C) TR IHE

(D) 2fxe =
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49.

50.

Privatization of education in India
is a consequence of which one of the

following ?

(A) Urbanization

(B) Globalization

(C) Capitalism

(D) Science and Technology

Which of the following institution is
working for correction of the juvenile

delinquents in India ?

49.

50.

MAY - 14316/II11—D

IArdia feTeroms ISR 8

T Trdehl hITCaT FIehTal TR
e ?

(A) AR

(B) SrTfcehishtom

(C) HIeIea

(D) fomr afor o=

TITATATHRT HIUTA FEAT  WTLATT

FIERIR = GERON ATATST HTHa
e ?

(A) Shelter Homes (A) HI&rTe

(B) Ashram Schools (B) 3Ti&IHSMmRA
(C) Remand Homes (C) fore 2m
(D) Open Prison (D) Far q&

51. The condition of being estranged or | 51. STEdIYE=N SEISIRIEE TTes BI0T STa
dissociated from the surrounding SIS GRS & I A
society is known as : e S ?

(A) Alienation (A) 3ctan
(B) Anomie (B) SHTUThRIAT
(C) Division of labour (C) #HfqHSH
(D) Rationality (D) dfgiTsaan
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52. Who

53.

opined that formal

organization is a system of

consciously co-ordinated activities of

two or more persons ?

(A) Delbert C. Miller

(B) William H. Form

(C) Chester I. Barnard

(D) Kenneth Boulding

Who has propounded the concept of

Bureaucracy ?

(A) Henri F. Fayol

(B) F.W. Taylor

(C) Max Weber

(D) Emile Durkheim

52.

53.

MAY - 14316/II11—D

‘TH fpen sifues fdaem SoftaTcRe

AT Tl e TUN A=

T B9’ 3™ HIUT WA A® 2

(A) Sae 9. faer

(B) foom w=. wH

(C) I IMF. IS

(D) Y dlifesT

fal fa fa

AR LIMEr=l HaheddT &I gfaurfed

Hell R ?

(A) & Th. w3

(B) Th. T&Y. R

(C) Heg s

(D) A grErEd
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54.

55.

Which one is not an important

characteristic of an organization ?

(A) Common goal

(B) Division of labour

(C) Integration

(D) Information

Which article says that ‘The State

shall make provision for securing

just and humane conditions of work

and for maternity relief ?

(A) Article 43

(B) Article 41

(C) Article 45

(D) Article 42

54.

55.

MAY - 14316/II11—D

HEEAT VA Hewequl dfTeed B

& ?

(A) HHfgsh 3fee

(B) sHfaysH

(C) ThIcHdI

(D) wfeedt

HIH AT ST gt Heerd

TS T ST SURISHT Shid =

HIUHT hedld Soelel sholall 3Te ?

(A) °hetH 43

(B) hetH 41

(C) <pcTH 45

(D) pctH 42
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56. The Indian Pilot’s Guild is an

57.

example of :

(A) Industrial Unions

(B) General Unions

(C) Craft Unions

(D) Workers Federations

‘The Human Relations of an

Industrial Civilization’ is written

by :

(A) F.W. Taylor

(B) Robert Owen

(C) Henry Fayol

(D) Elton Mayo

MAY - 14316/II11—D

56. ‘T sfead Uy fee’ § 9= SQTw

Aqe ?

(A) SEnfies dee

(B) S JHad

(C) B &

(D) SR I

57. ‘T sgm Rewrw e o9 sefigaa

o [l oSN

fafegaagied’ 8 g&s hivr fafsa

A ?

(A) ThEY. R

(B) U 3TaA

(C) B hard

(D) Teed #Al
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58.

59.

Ralf Dahrendorf’s notion of conflict
in case of ‘Class and Class Conflict

in Industrial Society’ is based on :

(A) Power

(B) Status

(C) Authority

(D) Honour

Hawthorne studies were carried out
in :
(A)

Western Electric Company in

USA

(B) Marion Virginia Plant in USA

(C) Tavistock Institute in London

(D) Michigan Survey Research

Centre in New Jersey

MAY - 14316/II11—D

58. 3TENfieh FHTSI ‘ot affor s’

qIfgsRi=it Uew S-sel®w<l Heunl

GhoUdl HIMER TG 38 ?

(A) 91

(B) <si

(C) TR

(D) 9

59. TAMD AT HS H0AM el 2

(A) IR TS HUA A STHE

(B) Az =fSifan wie 37 sMfteh

(C) Jfewisn se=ge 1 e

(D) faferma wsg frgd 92 =9

= St
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60.

61.

62.

In India, the Royal Commission on

Labour took place in :
(A) 1931
(B) 1930
(C) 1932
(D) 1935

Human Development is defined by

the UNDP as :

(A) increasing mobility

(B) decreasing mortality

(C) increasing consumerism

(D) enlarging people’s life choices

Low growth of population is an

indicator of :

(A) Economic growth

(B) Economic depression

(C) Economic underdevelopment

(D) Marginalisation

60.

61.

62.

MAY - 14316/III—D
ARATT * UF SHIHRH 31 oo’ =i e
Hhegl Hedl ?
(A) 1931
(B) 1930
(C) 1932

(D) 1935

.S A Ae forehrar=l sAre St

Hell R ?

(A) dTed! Tfaeiietdn
(B) wedi Acddn

(C) dTedl UTgehdiq

o o o

(D) R S Hae foarieno

w0

el Bl HH 9@ ® HIME
[RENENC | A

(A) et faem
(B) oTfefer “Rre=
(C) et sifaerma
(D) TR
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63.

64.

65.

How Samir Amin explains the

uneven development ?

(A) through the export of capital in
the periphery with the

advantage of low wage-cost

(B) the of

sustainable resources

through import

©)

through intensification of agro-

economy

(D) through collaborating with

feudal power

The Gandhian

framework focuses upon :

Sarvodaya

(A) Economic affluence
(B) Prosperity of all
(C) Utilitarianism

(D) Pluralism

The most feminists agree that the
issue of violence against women is

related to :

(A) Exploitation

(B) Alcoholism and drugs
(C) Power and control

(D) Poverty and male dominance

63.

64.

65.

MAY - 14316/II11—D

FTqfeTd forehmr Tseniol HHR STHE

It Y Doy TS ?

(A) 3Te9-3c9—= TRAd=aT HIIHTE
eTiRa Wigaarsl uftemda et

(B) ¥¥ed THEAMNET A hiol

(C) Fol-ITaEd faearieh ol

(D) STHIFETd YFI=IT FEHRTATAR
A

Mefere] Taed foaREo MR YT

ehd ?

(A) smfefer ot

(B) Hafel YRR

(C) SYFHIEG

(D) 3TeharEE

AN SHAR! AT=ARN FeHd STed i,

Tomforiet feam=m=t ya<t & e
Terel Hafa ome

(A) U

(B) wenefiAar snfor Ages g Hed
(C) wmed anfor frason

(D) M enfor gest a=ie
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66. The book ‘Maidens, Meal and Money’

67.

which talks about politics of

production and reproduction is

authored by :

(A) Claude Meillassoux

(B) Simone de Beauvoir

(C) Sandra Harding

(D) Levi Strauss

Matriarchy as a system is :

(A) Similar to matriliny

(B) Different from matriliny

(C) is

based on matrifocal

household

(D) Stronger than patriarchy

MAY - 14316/II11—D

66. 3IcAIeH AT GAECATEATS USRI

67.

o= Ty, Hid o 7’ § Tk

it fefeat e 2

(A) TFre Hielarey

(B) fauta <&@k

(C) T=gr1 wfen

(D) «i=dl €E

AIgEeh Feeel & TH

(A) TIGERT Rl AREl 3T

(B) WgeRia =ewdgd fa= ofme

(C) eI TeeowdeR a3

(D) fogaxiuen yee o1
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68. Women in Development Approach

(WID) was criticised because :

(A) It emphasized that women’s

status will improve through

‘productive employment’ which

downplayed women’s role in

household and reproduction

(B) It gave a  universal
understanding that all women

are oppressed in similar ways

(C) It failed to appreciate diversity

of women’s life

It did not consider men’s

(D)

contributions to household

MAY - 14316/II11—D

68. o= fammar=n gftedmeR e

0T SATell R

(A) WE ‘Scaew TS ferren

° = fa
ol 3d h{TIEY YT QU ATAl

3o Rt =X ST gecareniiel

feht gz=m Sfavard et

(B) To= foan e anTe s

ST TR Teh ATk THS hEed

LD ICICIIG] |

(C) Sft Staar=n fafasca g Hwad

qr St gSel

(D) gEoia SR AEH e

foamona Soa| e e
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69.

70.

71.

National Commission for women
is :

(A) an NGO

(B) Customary body

(C) A Statutory body

(D) Parliamentary body

Who has introduced the concept of

anomie in Sociology ?
(A) Robert Merton
(B) Kai Erikson

(C) Emile Durkheim
(D) Max Weber

Who has argued that deviance is
necessary for society as it fulfils two

major functions of society ?
(A) Pareto
(B) Weber
(C) Giddens

(D) Durkheim

70.

71.

MAY - 14316/II11—D

(A) TH TS

(B) WITTd e

(C) TeATHS: HoeA

(D) HHEHE gued

THTSTYMEATT JHTUTh YA HehedHT vt
ArEar ?

(A) T 7

(B) T TRhE

(C) TfHe gremsa

(D) Heg X

faoe § 9HNa STEvdeh 3:"% U

AT SF Y@ &EE o godl i,

1 Gideng hivil hefl 38 ?
(A) 9=

(B) &N

(C) fire

D) TR
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72.

73.

Name the writers of the book : “The
New Criminology for a Social Theory

of Deviance”.

(A) Makino, Tsuboi and

Dennerstein

(B) Vold, Bernard and Snipes

(C) Macrae, Maguive and

Milbourne

(D) Taylor, Walton and Young

Which of the following factors was
not a basis and part of Louis
Dumont’s book on “Homo
Hierarchicus : The Caste System

and its Implications” ?

(A) Classical texts

(B) Indology

(C) Structuralist approach

(D) Homogeneity

MAY - 14316/II11—D

72. ‘7T = fRfEAtai wi © Here faew

3 Sfogaa’ o1 TR TEh A6
|

(A) Hfwl, galg M0 ST

(B) =ieg, e v few

(C) ¥eh, Hiiteg efvr foersi

(D) IR, afeed mfor =

73. WCCIhT IV H<h B 8 SYAIC AT

‘Bl TRRR{HRRYT ; € wre fam sfe

S T IE AT THIhIET SR ST

N1 |
(A) S T

(B) gr=afgen

(C) TEATHS GreehM

(D) TehTeHdT
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74. Match the following questions with
the sociologists and select the
correct answer from the codes given

below :
List I
(Questions)
(@) Who was particularly interested

(b)

(c)

d)

(D
(2)
3)
4)

in typifications to understand
phenomenology ?

Who calls an instance of focused
interaction an encounter ?

Who has coined the term
‘Ethnomethodology’ ?

Who presumes the duality of
structure in theory of
structuration ?
List II
(Sociologists)
A. Giddens
H. Garfinkel
I. Goffman

A. Schutz

Codes :

A) (2
(B) (4)
©) @)
(D) (4)

(@ ()
3)
3)
2)

(2)

(c)
(4)
2)
3)
(1

(d)
(1)
(1)
4)
3)

MAY - 14316/II11—D

74. TWIATA YA GHSIOTETART ST
e S Wiell Fehdiehqd ard qdi™

e .
EICU |
(997
(@) THARTES HHSA ©vIMd ar=l

)

(c)

d)

(D
(2)
3)
4)

AR H0Ad faISIoeh® ShIva]
AT BT ?

HEYA TAHAT TS Teh TR
AT TS 3} 3T whIU W=l
AR ?

‘AR TGRS’ & TehouHdl

SHIv TErer 2

G HOT=A fHgrad "=l
SEIcAsdr HIvf ATt S
e ?

arer 11
(FHTSTITEN)
T. firew
T, TRfReHd
. MHHA
T

-
.
.

A) (2
(B) (4)
©)
D) @)

(@) ()
3)
3)
2)

2)

()
(4)
2)
3)
(1)

()
(1)
(1)
(4)
(3)
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75. ‘The rural social reality becomes

75. ‘‘fafyre ggdvTETET Sfadd hed™

very clear by the adoption of

methodological particularism and

not only depending on western

approaches and methodology.” Who

has made this statement ?

(A) AK. Saran

(B) Louis Dumont and David

YO FHTSIT=] IRl A4 T B,

heles IIYATC GelehlA ST TG TRIITe

STEced g O T HIA Aad el

g faum =il %a e ?

(A) T TH

(B) o =gdl onfor 2fegs drklew

Pockock
(C) TH.H. go
(C) S.C. Dube
(D) G.S. Ghurye (D) StTy. =
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